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CounterViewController: {

counterToggle:
incrementButton:
decrementButton:
countLabel:
counterStatelLabel:

cancellables: [AnyCancellable] = []
viewModel = ViewModel()

Disabled

iPhone 11 Pro — 13.0
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CounterViewController: {

counterToggle:
incrementButton:
decrementButton:
countLabel:
counterStatelLabel:

cancellables: [AnyCancellable] = []
viewModel = ViewModel()

Disabled

iPhone 11 Pro — 13.0
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CounterViewController: {
viewDidLoad() {

incrementButton. tap

{ () }

(viewModel. increment)

decrementButton. tap

{ () }

(viewModel.decrement)

counterToggle.valueChanged
(viewModel.isOn)
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CounterViewController: {
viewDidLoad() {

incrementButton. tap

{ () }

(viewModel. increment)

decrementButton. tap

{ () } D05y T4 k%ZViewModellcizZ %

(viewModel. de¢

counterToggle.valueChanged
(viewModel.isOn)
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CounterViewController: {
viewDidLoad() {

incrementButton. tap

{ () }

(viewModel. increment)

decrementButton. tap

{ () }

(viewModel.decrement)

counterToggle.valueChanged

QEEUEIERR )5 v 71~ k& ViewModellc5 2%
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CounterViewController: {
viewDidLoad() {

incrementButton. tap

{ () }

(viewModel. increment)

decrementButton. tap

{ () }

(viewModel.decrement)

counterToggle.valueChanged
(viewModel.isOn)

UISwitchD{EDZE L% ViewModellc{zZ %
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CounterViewController: {
viewDidLoad() {

viewModel. count

(to: \. , on: countLabel)
(in: &cancellables)

viewModel.isIncrementEnabled

(to: \. , on: incrementButton)
(in: &cancellables)

viewModel. isDecrementEnabled

(to: \. , on: decrementButton)
(in: &cancellables)
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CounterViewController: {
viewDidLoad() {

viewModel. count

(to: \. , on: countLabel)
(in: &cancellables)

viewModel.isIncrementEnab led
- (to: \. UL 7 > N %ZUILabellc fZiR
. (in: &cancellables)

viewModel. isDecrementEnabled

(to: \. , on: decrementButton)
(in: &cancellables)
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CounterViewController: {
viewDidLoad() {

viewModel. count

(to: \. , on: countLabel)
(in: &cancellables)

viewModel.isIncrementEnabled

(to: \. , on: incrementButton)
(in: &cancellables)

viewModel. i1sDecrementEnab led
' ptos A\ N DHEMh E S hE R
. (in: &cancellables)
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CounterViewController: {
viewDidLoad() {

viewModel. count

(to: \. , on: countLabel)
(in: &cancellables)

viewModel.isIncrementEnabled

(to: \. , on: incrementButton)
(in: &cancellables)

viewModel. isDecrementEnabled

(to: \. , on: decrementButton)
(in: &cancellables)

}
UHEHDES h e RR
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final class ViewModel {

let increment: Subscribers.Sink<Void, Never>
let decrement: Subscribers.Sink<Void, Never>
let 1sOn: Subscribers.Sink<Bool, Never>

var count: AnyPublisher<String?, Never> {
$_count.map { Optional.some(String($0)) *
.eraseToAnyPublisher()

var isIncrementEnabled: AnyPublisher<Bool, Never> {
$_isToggleEnabled.eraseToAnyPublisher()

var isDecrementEnabled: AnyPublisher<Bool, Never> {
$_isToggleEnabled.combinelLatest($_count) { $0 && $1 > 0 '}
.eraseToAnyPublisher()

}

@Published private var _count: Int = 0
@Published private var _isToggleEnabled = false

private var cancellables: [AnyCancellable] = []

init() { ... }
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ViewModel {

increment: . < , >
decrement: . < , >
1s0n: . < , >

count: <

$_count. { : NS DATNT:

. - AR N E2F TR EEITTENRIERL
isTncrementEnabled: DT, SEDIZEEIESubscribers.Sink CES
$_isToggleEnabled. ()

I
isDecrementEnabled: < , >
$_isToggleEnabled. ($_count) { $0 $1 }

. ()

F

@ _count: =

@ _isToggleEnabled =

cancellables: [ 1 =[]
() { ... }
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ViewModel {

increment: . < , >
decrement: : < , >
1s0n: . < , >
count: < ?, > {
¢ count. { : ( ($0)) 1}
: ()
¥
isIncrementEnabled: < , >
$_isToggleEnabled. ()
¥
isDecrementEnabled: < , >
$_isToggleEnabled. ($_count) { $0 $1 }
: ()
¥
@ _count: ~
@ _1sTogg ey SN L sk

AR b2 NTBIEEIFTENRIFRL

cancellables: [

DT, SEDEZEIZAnyPublisher CES

() { ...}
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ViewModel {

increment: . < , >
decrement: : < , >
1s0n: . < , >
count: < ?, > {
¢ count. { : ( ($0)) 1}
: ()
}
isIncrementEnabled:
$_1sToggleEnabled.
}
isDecrementEnabled: B UTREEDZME LT 2 & HRA L Fz L)
R e 0 DT, SEDHEIF@Published TES
}
@ _count: =
@ _isToggleEnabled =
cancellables: [ 1 = [1]
() { ...}
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ViewModel {

() {

_increment = < , >()
_decrement = < , >()
_isOn = < ) >()
.increment = (receiveCompletion: { _increment. (completion: $0) },
receiveValue: { _increment. ($0) 1)
.decrement = (receiveCompletion: { _decrement. (completion: $0) },
receiveValue: { _decrement. ($0) })
.1is0n = . (receiveCompletion: { _isOn. (completion: $0) },
receiveValue: { _isOn. ($0) 1})
_1is0n. (to: \._isToggleEnabled, on: ) . (in: &cancellables)
increment = _increment. { I ]
{ ($0. count). () } ??
(). ()
}
. { %0 + 11}
decrement = _decrement. { I ]
{ ($0. count). () } ??
(). ()
}
. {$0 =07 %0 — 1 : %0 }
increment. (with: decrement). (to: \. _count, on: ). (in: &cancellables)
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ViewModel {

() {

_increment = < , >()
_decrement = < , >()
_isOn = < ) >()

(completion: $0) },

increment.

(receiveCompletion:
receiveValue: { _i

(receiveCompletion: ANZz=TH > TlnitalizerR AN b &
irtmcteteiBs ') | —d 3 f-8h DPassthroughSubject

.1ncrement

.decrement

.1s0n = . (receiveCompletion: { _is
receiveValue: { _isOn.

_1is0n. (to: \._isToggleEnabled, on: ) . (in: &cancellables)
increment = _increment. { I ]
{ ($0._count). () } 72
(). ()
}
. { %0 }
decrement = _decrement. { [ ]
{ ($0. count). () } ??
(). ()
}
. { $0 ? $0 : $0 }
increment. (with: decrement). (to: \. _count, on: ). (in: &cancellables)
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ViewModel {

() {

_increment = < , >()
_decrement = < , >()
_isOn = < ) >()
.increment = (receiveCompletion: { _increment. (completion: $0) },
receiveValue: { _increment. ($0) 1)
.decrement = (receiveCompletion: { _decrement. (completion: $0) },
receiveValue: { _decrement. ($0) })
.1is0n = . (receiveCompletion: { _isOn. (completion: $0) },
receiveValue: { _isOn. ($0) 1})
_1is0n. (to: \._isToggleEnabled, on: ) . (in: &cancellables)
increment = _increment. WO A 1R bk EPassthroughSubject
: { ($0._count). _ o
(). ICRITS
}
. { $0 }
decrement = _decrement. { I ]
{ ($0. count). () } ??
(). ()
}
. { %0 ? %0 : $0 }
increment. (with: decrement). (to: \. _count, on: ). (in: &cancellables)
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ViewModel {

() {

_increment = < , >()

_decrement = < , >()

_isOn = < ) >()

.increment = (receiveCompletion: { _increment. (completion: $0) },
receiveValue: { _increment. ($0) })

(receiveComple

receiveValue: %%E%ﬁ

.isOn = . (receiveCompletion
receiveValue: { ($0) })

.decrement

_1is0n. (to: \._isToggleEnabled, on: ) . (in: &cancellables)
increment = _increment. { I ]
{ ($0._count). () } 72
(). ()
}
. { %0 }
decrement = _decrement. { [ ]
{ ($0. count). () } ??
(). ()
}
. { $0 ? $0 : $0 }
increment. (with: decrement). (to: \. _count, on: ). (in: &cancellables)
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ViewModel {

() {

_increment = < , >()

_decrement = < , >()

_isOn = < ) >()

.increment = (receiveCompletion: { _increment. (completion: $0) },
receiveValue: { _increment. ($0) })

1.'

(receiveCompletign: ign:

pessatgiel incrementhSDARY k& R H—IC

.isOn = . (receiveCompletion:

.decrement

CESVEEICHR R AERIARED countlc U T+1 LclEZRT
_1is0n. (to: \._isToggleEnabledp¥n: ) . (in: &cancellables)
increment = _increment. { I ]
{ ($0._count). () } 72
(). ()
¥
. { %0 }
decrement = _decrement. { [ ]
{ ($0._count). () } 72
(). ()
¥
. { $0 ? $0 : $0 }
increment. (with: decrement). (to: \. _count, on: ). (in: &cancellables)
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ViewModel {

() {

_increment = < , >()
_decrement = < , >()
_isOn = < ) >()
.increment = (receiveCompletion: { _increment. (completion: $0) },
receiveValue: { _increment. ($0) })
.decrement = (receiveCompletion: { _decrement. (completion: $0) },
receiveValue: { _decrement. ($0) })
.isOn = . (receiveCompletion: { _isOn. (completion: $0) },
receiveValue: { _isOn. ($0) 1})
_1isO0n. (to: \._isToggleEnabled, on - R \ _
_decrementh5DAXV 2 NI AH—IC
| t = 1 t. I —
increnent - _increnent. |10 (| RS ORI (U SR W2 -t B Y
} OF RKEWEICLTRY
. { $0 }
decrement = _decrement. { I ]
{ ($0._count). () } 72
(). ()
}
. { %0 ? %0 : $0 }
increment. (with: decrement). (to: \. _count, on: ). (in: &cancellables)
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ViewModel {

() {

_increment = < , >()

_decrement = < , >()

_isOn = < ) >()

.increment = (receiveCompletion: { _increment. (completion: $0) },
receiveValue: { _increment. ($0) 1)

.decrement = (receiveCompletion: { _decrement. (completion: $0) },
receiveValue: { _decrement. ($0) })

.1is0n = . (receiveCompletion: { _isOn. (completion: $0) },

receiveValue: { _isOn. ($0) 1})
_1is0n. (to: \._isToggleEnabled, on: ) . (in: &cancellables)
increment = _increment. { I ]
{ ($0. count). () } ??

(). ()
{ $0 }

dec"e’"e”f - —‘gec"emﬁg;;_count) .{ 8 increment&decrement® ARy N%&
oF H EICRERIRREZ BT
{ %0 7?7 $0 : $0 }

increment. (with: decrement). (to: \. _count, on: ). (in: &cancellables)
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ViewModel {

increment: . < , >
decrement: . < , >
1s0n: . < , >
count: < ?, > {
¢ count. { : ( ($0)) 1}

. ()
isIncrementEnabled: < , > {
$_isToggleEnabled. ()
isDecrementEnabled: < , > {

$_isToggleEnabled. ($_count) { $0 $1 }

s Stored PropertyTE% Leh - feh
PropertyWrapperZz#IH U TW3%Propertylc

PRI BHICIE. IRNTDPropertyD#831E
() {...1} DETUTWBRENLNH D60, Computed TEE

cancellables:
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ViewModel®dInitializer|cUXz

ViewModel {

increment: . < , p
decrement: . < , p
1s0n: . < , >
count: < ?, > {
¢ count. { : ( ($0)) 1}
: ()
s
1sIncrementkEnab led:
$ i1sToggleEnabled. -
) - RERREED counthEE & Nt S
isDecrementEnabled: String?lCEBULTH A
$_1sToggleEnabled. e . s
: ()
s
@ _count: =0
@ _isToggleEnabled =

[]

] =

cancellables: [

() { ...}
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ViewModel®dInitializer|cUXz

ViewModel {

increment: . < , >
decrement: : < , >
1s0n: . < , >
count: < ?, > {
¢ count. { : ( ($0)) 1}
. ()
1
isIncrementEnabled: < , >
$_isToggleEnabled. ()
F
1sDecrementEnabled:
ST leEnabled. i R <
el MERREED_isToggleEnabledhWEES 11z 5
1 FDANY NEANERICHA
@ _count: =
@ 15ToggleEnabled

[]

R
I

cancellables: [

() { ...}
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ViewModel®dInitializer|cUXz

ViewModel {

increment: . < , >
decrement: . < , >
1s0n: . < , >
count: <
$ _count. { . o .
] AERIREED isToggleEnabledZ /zl3_counth’
P TEINKS., isToggleEnabledhitrueh>
rernerementenablied: _counth 0k DAZFWEWSEICERLTHA
$_isToggleEnabled.
+
isDecrementEnabled:
$_isToggleEnabled. ($_count) { $0 $1 }
: ()
+
@ _count: =
@ 15ToggleEnabled

[]

R
I

cancellables: [

() { ...}
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CounterViewController: {

counterToggle:
incrementButton:
decrementButton:
countLabel:
counterStatelLabel:

cancellables: [AnyCancellable] = []
viewModel = ViewModel()

viewDidLoad() {

incrementButton. tap

{ () }

(viewModel. increment)

decrementButton. tap

{ () }

(viewModel.decrement)

counterToggle.valueChanged
(viewModel. isOn)

viewModel. count
(to: \. , on: countLabel)
(in: &cancellables)

viewModel.isIncrementEnabled
(to: \. , on: incrementButton)
(in: &cancellables)

viewModel. isDecrementEnabled
(to: \. , on: decrementButton)
(in: &cancellables)
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CounterViewController: {

counterToggle:
incrementButton:
decrementButton:
countLabel:
counterStatelLabel:

cancellables: [AnyCancellable] = []

viewModel = ViewModel(input: .init()
store: .init()
extra: .init()

)

Disabled

iPhone 11 Pro — 13.0
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CounterViewController: {
viewDidLoad() {

input = viewModel. input

incrementButton. tap
. { () F
.subscribe(input.increment)
(in: &cancellables)

decrementButton. tap
. { () F
.subscribe(input.decrement)
(in: &cancellables)

counterToggle.valueChanged
.subscribe(input.isOn)
(in: &cancellables)
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CounterViewController: {
viewDidLoad() {

input = viewModel. input

incrementButton. tap

{ () }

.subscribe(input.incremen
(in: &cancellables)

ViewModelD AAODBERNICE>TWS

decrementButton. tap
: { () F
.subscribe(input.decrement)
(in: &cancellables)

counterToggle.valueChanged
.subscribe(input.isOn)
(in: &cancellables)
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CounterViewController: {
viewDidLoad() {

output = viewModel.output

output.count
(to: \. , on: countLabel)
(in: &cancellables)

output.isIncrementEnabled
(to: \. , on: incrementButton)
(in: &cancellables)

output.isDecrementEnabled
(to: \. , on: decrementButton)
(in: &cancellables)
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CounterViewController: {
viewDidLoad() {

output = viewModel.output

output.count
(to: \. , on:
(in: &cancellables)

ViewModelh 5 DD BERNICE >TWS

output.isIncrementEnabled
(to: \. , on: incrementButton)
(in: &cancellables)

output.isDecrementEnabled
(to: \. , on: decrementButton)
(in: &cancellables)
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CounterViewModel: Machine<CounterViewModel.Resolver> {

Input: InputType {
increment = PassthroughSubject<Void, Never>()
decrement = PassthroughSubject<Void, Never=>()
isOn = PassthroughSubject<Bool, Never>()

Output: OutputType {
count: AnyPublisher<String?, Never>
isIncrementEnabled: AnyPublisher<Bool, Never>
isDecrementEnabled: AnyPublisher<Bool, Never>

Store: StoreType {
@Published count: Int = 0
@Published isToggleEnabled =

Extra: ExtraType {}
Resolver: ResolverType {
polish(input: Publishing<Input>, store: Store, extra: Extra) —> Polished<Output> {
Polished(output: Output(count: count,
isIncrementEnabled: incrementEnabled,

isDecrementEnabled: isDecrementEnabled),
cancellables: cancellables)
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CounterViewModel: Machine<CounterViewModel.Resolver> {

Input: InputType {
increment = PassthroughSubject<Void, Never>()
decrement = PassthroughSubject<Void, Never=>()
isOn = PassthroughSubject<Bool, Never>()

Output: OutputType {
count: AnyPublisher<String?, Never>
isIncrementEnabled: AnyPublisher<Bool, Never>
isDecrementEnabled: AnyPublisher<Bool, Never>

Store: StoreType {
@Published count: Int = 0
@Published isToggleEnabled =

Extra: ExtraType {}
Resolver: ResolverType {
polish(input: Publishing<Input>, store: Store, extra: Extra) —> Polished<Output> {
Polished(output: Output(count: count,
isIncrementEnabled: incrementEnabled,

isDecrementEnabled: isDecrementEnabled),
cancellables: cancellables)
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Input: InputType {
increment = PassthroughSubject<Void, Never>()
decrement = PassthroughSubject<Void, Never>()
isOn = PassthroughSubject<Bool, Never>()

input: InputProxy<Input>
1s0On: SubjectProxy<PassthroughSubject<Bool, Never>> = input.isOn
isOn.send ( )

InputProxy<Input: InputType> {
input: Input

(  input: Input) {
.1nput = 1nput

I3
<S: Subject>(dynamicMember keyPath: KeyPath<Input, S>)
—> SubjectProxy<S> {
SubjectProxy(input [keyPath: keyPathl])
I3



RicemilldDInput

Input: InputType {

increment = < , >()
decrement = < , >()
isOn = < , >()
I3
input: InputProxy<Input>
1SUNT SUDJECTProxy< < , >> = input.isOn
isOn.send( )

Ricemill TlZInputhiinputProxyic

ZvTSnNfcRETRAREINS
InputProxy<Input: InputType> {

input: Input

(  input: Input) {
.1nput = 1input

s
<S: >(dynamicMember keyPath: <Input, S>)
—> SubjectProxy<S> {
SubjectProxy(input [keyPath: keyPathl])
s



RicemilldDInput

Input: InputType {

increment = < , >()
decrement = < , >()
isOn = < , >()
I3
input: InputProxv<Input>
1s0n: SubjectProxy< < , >> = input.isOn
1s0Un.sendal )

SubjectProxylc 5 v 72 nlcIKREDSubjectiiE 9 5

InputProxy<Input: InputType> {
input: Input

(  input: Input) {
.1nput = 1input

s
<S: >(dynamicMember keyPath: <Input, S>)
—> SubjectProxy<S> {
SubjectProxy(input [keyPath: keyPathl])
s



RicemilldDInput

Input: InputType {
increment
decrement
1s0n =

Y Swift 5.1 S FIARREIC K > T=type-safeiiKeyPath
N—AZX DdynamicMemberLookupZfIEHUL T

input: INbUtProxv<Inout propertylc 77EALTWSH D & S KinterfaceT
SN 7751t L 1 > 25~ AT B )
isOn.send( ) EEDinputldprivatelc>TWAD T, AEH S IE
BEPI7ERATHIEHTELRWL

InputProxy<Input: InputType> {
input: Input

(  input: Input) {
.1nput = 1input

s
<S: >(dynamicMember keyPath: <Input, S>)
—> SubjectProxy<S> {
SubjectProxy(input [keyPath: keyPath])
s



RicemilldDInput

Input: InputType {

increment = < , >()
decrement = < , >()
isOn = < , >()
I3
input: InputProxy<Input>
isOn: SubiectProxy< < , >> = input.isOn
isOn.send( )

SubjectProxy Tl
IgfOE © func send( :)
- func send(completion:)
- func send(subscription:)

EELImE DHDBAHAETNTWVWAEDT, AAIFHMELIEBUCR>TWS

. Inp == e
I3
¥ >(dynamicMember keyPath: <Input, S>)
—> SubjectProxy<S> {
SubjectProxy(input [keyPath: keyPath])
I3
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CounterViewModel: Machine<CounterViewModel.Resolver> {

Input: InputType {
increment = PassthroughSubject<Void, Never>()
decrement = PassthroughSubject<Void, Never=>()
isOn = PassthroughSubject<Bool, Never>()

Output: OutputType {
count: AnyPublisher<String?, Never>
isIncrementEnabled: AnyPublisher<Bool, Never>
isDecrementEnabled: AnyPublisher<Bool, Never>

Store: StoreType {
@Published count: Int = 0
@Published isToggleEnabled =

Extra: ExtraType {}
Resolver: ResolverType {
polish(input: Publishing<Input>, store: Store, extra: Extra) —> Polished<Output> {
Polished(output: Output(count: count,
isIncrementEnabled: incrementEnabled,

isDecrementEnabled: isDecrementEnabled),
cancellables: cancellables)
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Output: OutputType {

count: < ?, >
isIncrementEnabled: < , >
isDecrementEnabled: < , >
s
output: OutputProxy<Output>
count: < ?, > = output.count
cancellable = count. (receiveValue: A ( (describing: $0)) })
OutputProxy<Output: OutputType> {
output: Output
( output: Output) {
.output = output
s
<P: >(dynamicMember keyPath: <Output, P>)
—> <P. ) P > {
output [keyPath: keyPath]. ()
s
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Output: OutputType {

count: < ?, >
isIncrementEnabled: < , >
isDecrementEnabled: < >

output: OutputProxy<Output>
count: < ¢, > = output.count
cancellable = count.

Ricemill Tl&OutputHhOutputProxyic

ZYv7ENTREBETARE NS
OutputProxy<Output: OutputType> {

output: Output

( output: Output) {
.output = output

s
<P: >(dynamicMember keyPath: <Qutput, P>)
-> <P. , P. > {
output [keyPath: keyPath]. ()
s



RicemilLldDOutput

Output: OutputType {

count: < ?, p
isIncrementEnabled: < , >
isDecrementEnabled: < , >
5
output: OutputProxv<Output>
count: < ?, > = output.count
cancellable = count. (receivevauue: < ( (describing: $0)) })

AnyPublisherictype-eraseUTc A VATV AZRIE T 5

XAIEIUD%'%\ %t%tAnyPubllshernd)Ti ST U
JU U]

output: Output

( output: Output) {
.output = output

s
<P: >(dynamicMember keyPath: <Qutput, P>)
-> <P. , P. > {
output [keyPath: keyPath]. ()
s



RicemilLldDOutput

Output: OutputType {

count: < ?, >

isIncrementEnabled: < , >

isDecrementEnabled: ] ] _
! dynamicMemberLookup%ZfJEH U T. Publisheric

EMUTWBA TV b (PassthroughSubject.
T ——— Publishers.OO% &) ZAnyPublisherlcBYZ# U /-
count: - AVAIVATRET S
cancellable = count. EEDoutputldprivatelcE>TWAD T, AEEHSIE

BEE7V7EATEHIEHTELL

OuTputProxy<Output: OutputType> {
output: Output

( output: Output) {
.output = output

s
<P: >(dynamicMember keyPath: <Qutput, P>)
-> <P. , P. > {
output [keyPath: keyPath]. ()
s



RicemilLldDOutput

Output: OutputType {

count: < ?, >
isIncrementEnabled: < , >
isDecrementEnabled: < , >
s
output: OutputProxy<Output>
count: < ?, > = output.count
cancellable = count. (receiveValue: { ( (describing: $0)) })

AnyPublisher’@® T, HAIKFHMELEBUCHE>TWDS
OutputProxy<Output: OutputClype>

output: Output

( output: Output) {
.output = output

s
<P: >(dynamicMember keyPath: <Qutput, P>)
-> <P. , P. > {
output [keyPath: keyPath]. ()
s



ViewModelDEZE - Store

CounterViewModel: Machine<CounterViewModel.Resolver> {

Input: InputType {

increment = < , >()
decrement = < , >()
isOn = < , >()
ks
Output: OutputType {
count: < ?, p
isIncrementEnabled: < , >
isDecrementEnabled: < , >
ks
Store: StoreType {
@ count: =
@ isToggleEnabled =
I
Extra: [ aType {}
S [EDZTFZERTEDELDICT SO, @Published TEEZT 5
Ricemil TldStoreldResolver®func polish(input:store:extra:)
DS DAHSEAGEEKD T, internalCE&Z U THaccess level [FFREL LY
isIncrementEnabled: incrementEnabled,
isDecrementEnabled: isDecrementEnabled),
cancellables: cancellables)
¥
ks



ViewModelDFEZE — Extra

CounterViewModel: Machine<CounterViewModel.Resolver> {

Input: InputType {

increment = < ) >()
decrement = < ) >()
isOn = < ) >()
I
Output: OutputType {
count: < ?, p
isIncrementEnabled: < ) >
isDecrementEnabled: < , >
I
Store: StoreType v —
@ count: ﬂnMﬁE’F%E%?%
@ EILENSE < ZEIDIZS IEAGBKEFEL U
I
Extra: ExtraType {}
Resolver: ResolverType {
polish(input: Publishing<Input>, store: Store, extra: Extra) —> Polished<Output> {
Polished(output: Output(count: count,
isIncrementEnabled: incrementEnabled,
isDecrementEnabled: isDecrementEnabled),
cancellables: cancellables)
¥
I



ViewModelDEZ

CounterViewModel: Machine<CounterViewModel.Resolver> {

Input: InputType {
increment = PassthroughSubject<Void, Never>()
decrement = PassthroughSubject<Void, Never=>()
isOn = PassthroughSubject<Bool, Never>()

Output: OutputType {
count: AnyPublisher<String?, Never>
isIncrementEnabled: AnyPublisher<Bool, Never>
isDecrementEnabled: AnyPublisher<Bool, Never>

Store: StoreType {
@Published count: Int = 0
@Published isToggleEnabled =

Extra: ExtraType {}
Resolver: ResolverType {
polish(input: Publishing<Input>, store: Store, extra: Extra) —> Polished<Output> {
Polished(output: Output(count: count,
isIncrementEnabled: incrementEnabled,

isDecrementEnabled: isDecrementEnabled),
cancellables: cancellables)



Ricemill®ResolverDEE

ResolverType {
Input: InputType
Output: OutputType
Store: StoreType
Extra: ExtraTlype

polish(input: Publishing< >,
store: ,
extra: ) —> Polished< >

Input « Output * Store « ExtraZz {3 T

Input « Store « Extrah*5OutputZz &9 5



Ricemill®Resolver®ERE

Resolver: ResolverType {

polish(input: Publishing<Input>,
store: Store,
extra: Extra) —> Polished<Output> {

cancellables: [ 1 = []
increment = 1nput.increment
{ (store.count) }
{ %0 + 1 }

decrement = 1input.decrement
{ (store.count) }

{$0 >07%0 -1 : %0 }

increment. (with: decrement)
(to: \.count, on: store)
(in: &cancellables)

input.is0n
(to: \.isToggleEnabled, on: store)
(in: &cancellables)



RicemilldResolverdD3ELE

Resolver: ResolverType {

polish(input: Publishing<Input>,
store: Store,
extra: Extra) —> Polished<Output> {

cancellables: [ 1 = []
increment = 1nput.increment
{ (store.count) }
{ $0 I3

decrement = 1input.decrement
{ (store.count) }

MR D blishingiRETHERD S DA%, FEREIFD
HAOEULUTUTEITELS

increment. (with:
(to: \.coult, ;
(in: &cancellables)

input.is0n
(to: \.isToggleEnabled, on: store)
(in: &cancellables)



RicemilldResolver — Publishing

Input: InputType {

increment = < , >()
decrement = < , >()
isOn = < , >()
s
input: Publishing<Input>
increment: < , > = 1nput.increment

Publishing<Input: InputType> {
input: Input
(  input: Input) {

.input = 1input

<P: >(dynamicMember keyPath: <Input, P>)
—> <P. , P. >

input [keyPath: keyPath]. ()



RicemilldResolver — Publishing

Input: InputType {

increment = < , >()
decrement = < , >()
isOn = < , >()
s
input: Publishina<Input>
increment: < , > = 1nput.increment

AnyPublisherictype-eraseUfcf Y A7 VA ZGT 3
Publishing<InputT: Inputlype>

input: Input
(  input: Input) {

.1nput = 1input

<P: >(dynamicMember keyPath: <Input, P>)
—> <P. b Pr > {
input [keyPath: keyPath]. ()



RicemilldResolver — Publishing

Input: InputType {

increment = < , >()
‘iiéﬂeﬂe”t - dynamicMemberLookupZFIFA U T. Publisherlc
} EHMULTWBEATY Y ¢ (PassthroughSubject.

Publishers.O0O7& &) %ZAnyPublisherlcBZE#l 1

input: Publishing<Input *]"/Z?‘/Z'C“HRT[%?'% -
increment: L EREDinputidprivatelc > TWASD T, AFHD S IE
BiE7PI7EATEHIEDTELEL

PUD CIShIng<Input: InputType> {
input: Input
(  input: Input) {

.1nput = 1input

<P: >(dynamicMember keyPath: <Input, P>)
—> <P. b Pr > {
input [keyPath: keyPath]. ()



Ricemill®Resolver®ERE

Resolver: ResolverType {

polish(input: Publishing<Input>,
store: Store,
extra: Extra) —> Polished<Output> {

count = store.$count
( . )
( . )
()

incrementEnabled = store.$isToggleEnabled

()

isDecrementEnabled = store.$isToggleEnabled
(store.$count)
{ $0 $1 > 0 }
()

Polished(output: Output(count: count,
isIncrementEnabled: incrementEnabled,
isDecrementEnabled: isDecrementEnabled),
cancellables: cancellables)



RicemilldResolverdD3ELE

Resolver: ResolverType {

polish(input: Publishing<Input>,
store: Store.
extra: Extra) —> Polished<Output> {

count = store.$count NEMARBDZEEZH & IcOutputZz £ X
. ( . )
( . )
()

incrementEnabled = store.$isToggleEnabled
()

isDecrementEnabled = store.$isToggleEnabled
(store.$count)
{ $0 $1 > 0 }
()

Polished(output: Output(count: count,
isIncrementEnabled: incrementEnabled,
isDecrementEnabled: isDecrementEnabled),
cancellables: cancellables)



Ricemill®Resolver®ERE

Resolver: ResolverType {

polish(input: Publishing<Input>,
store: Store,
extra: Extra) —> Polished<Output> {

count = store.$count
( . )
( . )
()

incrementEnabled = store.$isToggleEnabled

()

isDecrementEnabled = store.$isToggleEnabled
(store.$count)
{ $0 $1 > 0 }
()

Polished(output: Output(count: count,
isIncrementEnabled: incrementEnabled,
isDecrementEnabled: isDecrementEnabled),
cancellables: cancellables)



RicemilldResolver — Machine

Machine<Resolver: ResolverType> {

input: InputProxy<Resolver. p
output: OQutputProxy<Resolver. >

_extra: Resolver.
_store: Resolver.
_cancellables: [ ]

(input: Resolver. ,
output: Resolver. )
store: Resolver. ,
extra: Resolver. ,
cancellables: [ 1) {
.input = InputProxy(input)
.output = OutputProxy(output)
._Store store
._extra extra
. _cancellables = cancellables

(input: Resolver. , store: Resolver.
receivableInput = Publishing(input)

polished = Resolver.polish(input: receivableInput, store:

.init(input: input,
output: polished.output ?? { () }(),
store: store,
extra: extra,
cancellables: polished.cancellables)

, extra: Resolver.

store, extra: extra)

) A



RicemilldResolver — Machine

Machine<Resolver: ResolverType> {

input: InputProxy<Resolver. >
output: OutputProxy<Resolver. >

_extra: Resolver.
_store: Resolver.
_cancellables: [ ]

(input: Resolver. )

output: Resolver. )

store: Resolver. ,

extra: Resolver. ,

cancellables: [ 1) {
.input = InputProxy(input)

;f:ig‘:.; RIS |\/|5Chine D TERLES IC iR\ T LW B Resolverd
ApeBe LI fuNC polish(input:store:extra)Bi—E T IFUH U
} R D{EDPolishedADoutputzFfIAAT %

(ingt: Resolver. , store: Resolver. , extra: Resolver. ) {

receivableInput = Publishina(inout)
polished = Resolver.polish(input: receivableInput, store: store, extra: extra)
.1n1t(1nput: 1nput,

output: polished.output ?? { () XO),

store: store,

extra: extra,

cancellables: polished.cancellables)




RicemilldResolver — Machine

Machine<Resolver: ResolverType> {

input: InputProxy<Resolver. >
output: OutputProxy<Resolver. >

_extra: Resolver.
_store: Resolver.
_cancellables: [

errreenieaEs [NputProxy¥OutputProxy TEEHDA Y AT Y A%
output: Resolver. 5“/7[1_5\ 7‘}],3315%;:5?3-%

store: Resolver.
extra: Resolver. ,
cancellahles: [ 1) {

.input = InputProxy(input)

.output = OutputProxy(output)

._Store store

._extra extra

. _cancellables = cancellables

(input: Resolver. , store: Resolver. , extra: Resolver. ) {

receivableInput = Publishing(input)
polished = Resolver.polish(input: receivableInput, store: store, extra: extra)
.init(input: input,

output: polished.output ?? { () XO),

store: store,

extra: extra,

cancellables: polished.cancellables)



ViewControllerdDEEDEERER

CounterViewController: {
counterToggle:
incrementButton:
decrementButton:
countLabel:
counterStatelLabel:

cancellables: [AnyCancellable] = []
viewModel = ViewModel(input: .init(), store: .init(), extra: .init())

viewDidLoad() {

input = viewModel. input

incrementButton. tap. { () }.subscribe(input.increment)
(in: &cancellables)

decrementButton.tap. { () }.subscribe(input.decrement)
(in: &cancellables)

counterToggle.valueChanged.subscribe(input.isOn)
(in: &cancellables)

output = viewModel.output

output.count. (to: \. , on: countLabel)
(in: &cancellables)

output.isIncrementEnabled. (to: \. , on: incrementButton)
(in: &cancellables)

output.isDecrementEnabled. (to: \. , on: decrementButton)
(in: &cancellables)



SwiftUI



ViewdDE

CounterView:
@ viewModel = ViewModel()
body: {
{
(") { .viewModel.increment() }
(. (size: ))
(!'viewModel.isIncrementEnabled)
(viewModel.isIncrementEnabled ? : )

("\(viewModel.count)")

(. (size: ))
(") { .viewModel.decrement() }
(. (size: ))
(!'viewModel. isDecrementEnabled)
(viewModel. isDecrementEnabled ? : )

(viewModel.toggleText, isOn: $viewModel.isOn)
(width: (150), alignment: . ) Disabled

iPhone 11 Pro — 13.0



ViewdDE

CounterView:
@ viewModel = ViewModel()
body: {
{
(") { .viewModel.increment() }
(. (size: ))
(!'viewModel.isIncrementEnabled)
(viewModel.isIncrementEnabled ? : )

("\(viewModel.count)")

isincrementEnabledZH & ICRY > DB - B%E
RERU. R DYy TEndEincrement() &3

('viewModel. isDecrementEnabled)
(viewModel. isDecrementEnabled ? : )

(viewModel.toggleText, isOn: $viewModel.isOn)
(width: (150), alignment: . ) Disabled

iPhone 11 Pro — 13.0



ViewdDE

CounterView:
@ viewModel = ViewModel()
body: {
{
(") { .viewModel.increment() }
(. (size: ))
(!'viewModel.isIncrementEnabled)
(viewModel.isIncrementEnabled ? : )

("\(viewModel.count)")
(. (size: ))

.decrement() }

e rementEnabled)
(viewModel. isDecrementEnabled ? : )

(viewModel.toggleText, isOn: $viewModel.isOn)
(width: (150), alignment: . ) Disabled

iPhone 11 Pro — 13.0



ViewdDEIiE

CounterView: {
@ viewModel = ViewModel()
body {
{
(") { viewModel. increment() }

(. (size: ))
|sDecrementEnabIed’a'_—%c‘:tu'RQ /0375371 gkl ¢ 0.5)
REU, RY VDY Y 7"&.‘11% & decrement() 23

. size:
(") { .viewModel.decrement() }

(. (size: ))

(!viewModel. isDecrementEnabled)
(viewModel. isDecrementEnabled ? : )

(viewModel.toggleText, isOn: $viewModel.isOn)
(width: (150), alignment: . )




ViewdDE

CounterView:
@ viewModel = ViewModel()
body: {
{
(") { .viewModel.increment() }
(. (size: ))
(!'viewModel.isIncrementEnabled)
(viewModel.isIncrementEnabled ? : )

("\(viewModel.count)")
(. (size: ))

("W") { .viewModel.decrement() }

MY > DIREEDISONIT & > TviewModelNiiieh s

VIicwrouce C.

) 0

(viewModel.toggleText, isOn: $viewModel.isOn)

(width: (150), alignment: . )

iPhone 11 Pro — 13.0



ViewModelDEZ

ViewModel: ObservableObject {

increment: () —> Void
decrement: () —> Void

@Published

@Published
@Published
@Published

() { ...

1s0n =

cancellables:

}

count: Int = 0
isIncrementEnabled
1sDecrementEnabled

[AnyCancellable] = []



ViewModelDEZ

ViewModel: {

increment: () —

decrement: () —> @ObsevedObject& LT Viewlll CES
o is0n = TE5LDICTS
@ count: =
@ isIncrementEnabled =
@ isDecrementEnabled =
cancellables: [ ] =[]

() { ...}



ViewModelDEZ

ViewModel: {

increment: () -—>
decrement: () —>

@ isOn =

@ S AEDSDADD:

@ B\ (N RESHET R ERFTERIEEL

@ M 0T, SEDBAIR() -> VoidTES
cancellables: [ ] =[]

() { ...}



ViewMode D EH

ViewModel: {

increment: () —>
decrement: () —>

1s0n =
NEEDSDAH2:

AR M &FFHFF B =8 IcBinding<Bool>h?
NSRRI \E (%2 D D T@Published internal var ¢E®

@ @ @ ()

() { ...}



ViewModelDEZ

ViewModel: {

increment: () —>
decrement: () —>

1s0n =
count: =

isIncrementEnabled
i1sDecrementEnabled

@ @ @ ()

Cand =10 RIS

NEBN\ D & NERIRRE:
@Published CEZEI N TWBpropertyhEHIhd &
ObservableObject®objectWillChangeh X LT
ViewDbodyhEFizh s

ZUT. ViewllITIREICPIVEATESEITTRVLWOT
private(set) TEELT. REPTOHEFAEEE T S



ViewModelDELL

ViewModel: {

()1
_increment = < , >()
_decrement = < >()

.1ncrement
.decrement

{ _increment. (()) }
{ _decrement. (()) }

increment = _increment. { I ]
{ ($0.count). () } 22
(). ()
¥
. { $0 + 1 }
decrement = _decrement. { [ ]
{ ($0.count). () } 22
(). ()
¥
. {$0 >07? %0 — 1 : $0 }
increment. (with: decrement). (to: \.count, on: ). (in: &cancellables)
$isOn. (to: \.isIncrementEnabled, on: ) . (in: &cancellables)
$isOn. ($count). { %0 $1 > 0 }
(to: \.isDecrementEnabled, on: )

(in: &cancellables)



ViewModelDELL

ViewModel: {

(){
_increment = < , >()
_decrement = < >()

{ _increment.
{ _decrement.

.1ncrement
.decrement

AN %=F T > ClnitalizerI ANV M &

increment = _increment.

{ ($0.count). ) L—9 B7hDPassthroughSubject
().
¥
. { $0 }
decrement = _decrement. { [ ]
{ ($0.count). () } 77
(). ()
¥
. { $0 ? $0 : $0 }
increment. (with: decrement). (to: \.count, on: ). (in: &cancellables)
$isOn. (to: \.isIncrementEnabled, on: ) . (in: &cancellables)
$isOn. ($count). { %0 $1 }
(to: \.isDecrementEnabled, on: )

(in: &cancellables)



ViewModelDELL

ViewModel: {

()1
_increment = < , >()
_decrement = < , >()
.increment = { _increment. (()) }
.decrement = { _decrement. (()) }

increment = _increment.
0. t). oa .
‘({)_ (50. count) ANDDAXY h%ZPassthroughSubject
b ICLEIT S
.map { $0 + 1 } il
decrement = _decrement. { [ ]
{ ($0.count). () } 77
(). ()
¥
. { $0 ? $0 : $0 }
increment. (with: decrement). (to: \.count, on: ). (in: &cancellables)
$isOn. (to: \.isIncrementEnabled, on: ) . (in: &cancellables)
$isOn. ($count). { %0 $1 }
(to: \.isDecrementEnabled, on: )

(in: &cancellables)



ViewModelDELL

ViewModel: {

()4

_increment
_decrement

_incrementh 5D &2 MU H—IC

AERIREED countic W UT+1 UTclE%Ziit g

{ _increment.
{ _decrement.

.1ncrement
.decrement

increment = _increment. { I ]
{ ($0.count). () } 22
(). ()
¥
. { $0 }
decrement = _decrement. { [ ]
{ ($0.count). () } 22
(). ()
¥
. { $0 ? $0 : $0 }
increment. (with: decrement). (to: \.count, on: ). (in: &cancellables)
$isOn. (to: \.isIncrementEnabled, on: ) . (in: &cancellables)
$isOn. ($count). { %0 $1 }
(to: \.isDecrementEnabled, on: )

(in: &cancellables)



ViewModelDELL

ViewModel: {

()1
_increment = < , >()
_decrement = < >()

{ _increment.
{ _decrement.

.1ncrement
.decrement

_decrementh5DAN K& MY H—IC

increment = _increment. . _
{ TR NERIREED counticx UT-1LT(EZ0LD
} 0 K= MBI LTHT
. { $0 }
decrement = _decrement. { [ ]
{ ($0.count). () } 77
(). ()
¥
. { $0 ? $0 : $0 }
increment. (with: decrement). (to: \.count, on: ). (in: &cancellables)
$isOn. (to: \.isIncrementEnabled, on: ) . (in: &cancellables)
$isOn. ($count). { %0 $1 }
(to: \.isDecrementEnabled, on: )

(in: &cancellables)



ViewModelDELL

ViewModel: {
()1
_increment = < , >()
_decrement = < ) >()
.increment = { _increment. (()) }
.decrement = { _decrement. (()) }
increment = _increment. { I ]
{ ($0.count). () } 77
(). ()
}
. { $0 }
decrement = _decrement. { i oa
{ ($0.count). increment&decrement® 1R h%&
} 0. b & [CPIERIRAEE T H
. { $0 ? $0 : $0 }
increment. (with: decrement). (to: \.count, on: ). (in: &cancellables)
$isOn. (to: \.isIncrementEnabled, on: ) . (in: &cancellables)
$isOn. ($count). { %0 $1 }
(to: \.isDecrementEnabled, on: )

(in: &cancellables)



ViewModelDELL

ViewModel: {
()1
_increment = < , >()
_decrement = < , >()
.increment = { _increment. (()) }
.decrement = { _decrement. (()) ¥
increment = _increment. { I ]
{ ($0.count). () } 22
(). ()
}
. { $0 }
decrement = _decrement. { [ ]
{ ($0.count). () } 22
(). ()
}
. { $0 ? $0 : $0 }
increment. (with: decrement).
$isOn. (to: \.isIncrementEnabled, on: ) . (in: &cancellables)
$isOn. ($count). { %0 $1 }
(to: \.isDecrementEnabled, on: )

(in: &cancellables)



ViewDEZXEDEMARR

CounterView: View {

@0bservedObject viewModel = ViewModel()
body: View {
VStack {
Button("@®") { .viewModel. increment() }

.font(.system(size: 50))
.disabled(!viewModel.isIncrementEnabled)
.opacity(viewModel.isIncrementEnabled ? 1 : 0.5)

Text("\(viewModel.count)")
.font(.system(size: 50))

Button("{") { .viewModel.decrement() }

.font(.system(size: 50))
.disabled(!viewModel.isDecrementEnabled)
.opacity(viewModel.isDecrementEnabled ? 1 : 0.5)

Toggle(viewModel.toggleText, isOn: $viewModel.isOn)
. frame(width: CGFloat(150), alignment: .center)



SwiftUI
Ricemill



ViewdDE

CounterView:

Q@ viewModel = ViewModel(input: .init(),
store: .init(),
extra: .init())

body: {

input = viewModel. input
output = viewModel.output

{
("M") { input.increment.send() }
(. (size: ))
('output.isIncrementEnabled)
(output.isIncrementEnabled ? 1 : )

("\(output.count)")
. (. (size: ))

("®") { input.decrement.send() }

(. (size: )) Disabled
('output.isDecrementEnabled)
(output.isDecrementEnabled ? 1 : )

(output.toggleText, isOn: input.isOn)
(width: , alignment: . )

} iPhone 11 Pro — 13.0



ViewdDE

CounterView:

@ viewModel = ViewModel(input: .init(),
store: .init(),
extra: .init())

bodv: {

input = viewModel. input
output = viewModel.output

& ViewModelD A ADEARRICIE>TUWLWS

('output.isIncrementEnabled)
(output.isIncrementEnabled ? 1 : )

("\(output.count)")
. (. (size: ))

("®") { input.decrement.send() }

(. (size: )) Disabled
('output.isDecrementEnabled)
(output.isDecrementEnabled ? 1 : )

(output.toggleText, isOn: input.isOn)
(width: , alignment: . )

} iPhone 11 Pro — 13.0



ViewModelDEZ

ViewModel: Machine<ViewModel.Resolver> {
Output = Store

Input: BindableInputType {

increment = PassthroughSubject<Void, Never=>()
decrement = PassthroughSubject<Void, Never>()
@Published 1s0n =
+
Store: StoredOutputType {
@Published count: Int = 0
@Published isIncrementEnabled =
@Published isDecrementEnabled =
+
Extra: ExtraType {}
Resolver: ResolverType {
polish(input: Publishing<Input>,
store: Store,
extra: Extra) —> Polished<Output> {
Polished(cancellables: cancellables)
s
+



ViewModelDEZ

ViewModel: Machine<ViewModel.Resolver> {
Output = Store

Input: BindableInputType {

increment = PassthroughSubject<Void, Never=>()
decrement = PassthroughSubject<Void, Never>()
@Published 1s0n =
+
Store: StoredOutputType {
@Published count: Int = 0
@Published isIncrementEnabled =
@Published isDecrementEnabled =
+
Extra: ExtraType {}
Resolver: ResolverType {
polish(input: Publishing<Input>,
store: Store,
extra: Extra) —> Polished<Output> {
Polished(cancellables: cancellables)
s
+



SwiftUI TDInputDIRDEEL)

Input: BindableInputType {

increment = < , >()

decrement = < , >()
@ 1s0n =

s
BindableInputType: InputType, {}
InputProxy Input: BindableInputType {
<Subject>(

dynamicMember keyPath: <Input, Subject>

) —> <Subject> {
(initialValue: input). [dynamicMember: keyPath]

}



SwiftUI TDInputDIRDEEL)

Input: BindableInputType {

increment = < , > ()
decrement = < , > ()
@ 1s0n =
¥
BindableInputType: InputType, {}

i nddsey ObservableObjectic#EHLU fzInput

<Subject>(
dynamicMember keyPath: <Input, Subject>
) —> <Subject> {
(initialValue: input). [dynamicMember: keyPath]

}



SwiftUI TDInputDIRDEEL)

Input: BindableInputType {

increment = < , >()
decrement = < , >()
@ isOn =
s
BindableInputType: InputType, {}
InputProxy Input: BindableInputType {
<Subject>(
dynamicMember keyPath: <Input, Subject>
) —> <Subject> {
(initialValue: input). [dynamicMember: keyPath]
s
s

Inputh’BindablelnputType®i&&lddynamicMemberLookup

T@Published TEZEEINTWSpropertyh 5BindingZ S EEICT S



ViewModelDEZ

ViewModel: Machine<ViewModel.Resolver> {
Output = Store

Input: BindableInputType {

increment = PassthroughSubject<Void, Never=>()
decrement = PassthroughSubject<Void, Never>()
@Published 1s0n =
+
Store: StoredOutputType {
@Published count: Int = 0
@Published isIncrementEnabled =
@Published isDecrementEnabled =
5
Extra: ExtraType {}
Resolver: ResolverType {
polish(input: Publishing<Input>,
store: Store,
extra: Extra) —> Polished<Output> {
Polished(cancellables: cancellables)
s
+



SwiftUI TdDStore&QutputDiRks

Store: StoredOutputType {
count: =0
1sIncrementEnab led
1sDecrementEnabled

@ @ @

StoredOutputType: OutputType, StoreType {}

Machine: Resolver. == Resolver.

objectWillChange: Resolver. . {
_store.

I



SwiftUI TDStore&OutputDiE2 £ L)

Store: StoredOutputType {

@ count: =0
@ isIncrementEnabled =
@ isDecrementEnabled =

StoredOutputType: OutputType, StoreType {}

VBB Store & OutputlCZEHLU 7eprotocol Rt s {

objectWillChange: Resolver. . {
_store.

s



SwiftUI TDStore&OutputDiE2 £ L)

Store: StoredOutputType {
count: =
isIncrementEnabled
isDecrementEnabled

@ @ @

StoredOutputType: OutputType, StoreType {}

Machine: Resolver. == Resolver. {

objectWillChange: Resolver. . {
_store.

Store&Outputh BRI UBfE - /c3BS (StoredOutputType) I
Store®objectWillChangeZzMachine®objectWillChange

NS PI7EATESDLSICLU. StoreDZEEZViewlcizA S




ViewModelDEZ

ViewModel: Machine<ViewModel.Resolver> {
Output = Store

Input: BindableInputType {

increment = PassthroughSubject<Void, Never=>()
decrement = PassthroughSubject<Void, Never>()
@Published 1s0n =
+
Store: StoredOutputType {
@Published count: Int = 0
@Published isIncrementEnabled =
@Published isDecrementEnabled =
+
Extra: ExtraType {}
Resolver: ResolverType {
polish(input: Publishing<Input>,
store: Store,
extra: Extra) —> Polished<Output> {
Polished(cancellables: cancellables)
s
+



SwiftUI CDResolverDixrsE LN

Resolver: ResolverType {

polish(input: Publishing<Input>,
store: Store,
extra: Extra) —> Polished<Output> {

cancellables: [ 1 = []
increment = 1nput.increment
{ (store.count) }
{ %0 + 1 }

decrement = 1input.decrement
{ (store.count) }

{$0 >07%0 -1 : %0 }

increment. (with: decrement)
(to: \.count, on: store)
(in: &cancellables)



SwiftUI CDResolverDixrsE LN

Resolver: ResolverType {

polish(input: Publishing<Input>,
store: Store,
extra: Extra) —> Polished<Output> {

cancellables: [ 1 =[]
increment = 1nput.increment
{ (store.count) }
{ $0 ¥
decrement = input.decrement
{ (store.count) }
{ $0 ? $0 el

| | Publishing B THEM 5D AN%E. AIEREIET D
increment. (with: de HHE LT LTS IFENS

(to: \.count,
(in: &cancellables)
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Resolver: ResolverType {

polish(input: Publishing<Input>,
store: Store,
extra: Extra) —> Polished<Output> {

input.$1is0n
(to: \.isIncrementEnabled, on: store)
(in: &cancellables)

input.$1is0n
(store.$count)
{ %0 $1 > 0 }
(to: \.isDecrementEnabled, on: store)
(in: &cancellables)

Polished(cancellables: cancellables)



SwiftUI CDResolverDixrsE LN

Resolver: ResolverType {

polish(input: Publishing<Input>,
store: Store,
extra: Extra) —> Polished<Output> {

Publishing#Z2H THAEBDBIindingh 5D AN %=

BEITOEAELTUTRITES

input.$1is0n
(to: \.isIncrementEnabled, on: store)
(in: &cancellables)

input.$1is0n
(store.$count)
{ $0 $1 +
(to: \.isDecrementEnabled, on: store)
(in: &cancellables)

Polished(cancellables: cancellables)



SwiftUI TDPublishing®ir5

Input: BindableInputType {

increment = < , >()

decrement = < , >()
@ isOn =
input: Publishing<Input>
1s0n: < , > = input.$1is0n

Publishing Input: BindableInputType {
<Value>(

dynamicMember keyPath: <Input, Value>

) —> Value {

input [keyPath: keyPath]
s




SwiftUITDPublishing D5 £ L\

Input: BindableInputType {

increment = < , >()
decrement = < , >()
@ 1s0n =
input: Publishina<Input>
1s0n: < , > = input.$1is0n

AN AnyPublisherictype-eraseUfcf Y A7V AZIET S

<Value>(

dynamicMember keyPath: <Input, Value>
) —> Value {

input [keyPath: keyPath]
s



SwiftUI CDResolverDixrsE LN

Resolver: ResolverType {

polish(input: Publishing<Input>,
store: Store,
extra: Extra) —> Polished<Output> {

input.$1is0n
(to: \.isIncrementEnabled, on: store)
(in: &cancellables)

input.$1is0n
(store.$count)
{ %0 $1 > 0 }
(to: \.isDecrementEnabled, on: store)
(in: &cancellables)

Polished(cancellables: cancellables)



SwiftUI CDResolverDixrsE LN

Resolver: ResolverType {

polish(input: Publishing<Input>,
store: Store,
extra: Extra) —> Polished<Output> {

input.$1is0n
(to: \.isIncrementEnabled, on: store)
(in: &cancellables)

input.$1is0n
(store.$count)
{ $0 $1 +
(to: \.isDecrementEnabled, on: store)
(in: &cancellables)

Polished(cancellables: cancellables)

Store & Outputh E—TdHh 5. Polished

DinitializerDs|#ic I cancellables® &
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Polished<Output> {
output: Output?

cancellables: [ ]
I3
Polished OQutput: StoredOutputType {
(cancellables: [ 1) {
output =
.cancellables = cancellables
I3
I3
Polished OQutput: OutputType {
(output: Output, cancellables: [ 1) {
.output = output
.cancellables = cancellables
I3



SwiftUITDPublishedDixsZE L)

Polished<Output> {
output: Output?

cancellables: [ ]
I3
Polished OQutput: StoredOutputType {
(cancellables: [ 1) {
output =
.cancellables = cancellables
I3
I3
Polished OQutput: OutputType {
(output: Output, cancellables: [ 1) {
.output = output
.cancellables = cancellables
I3



ViewdDEEDERER

CounterView: {

@ viewModel = ViewModel(input: .init(),
store: .init(),
extra: .init())

body: {

input = viewModel. input
output = viewModel.output

{
("M") { input.increment.send() }

(. (size: 50))
('output.isIncrementEnabled)
(output.isIncrementEnabled ? 1 : 0.5)

("\(output.count)")
: (. (size: 50))

("®") { input.decrement.send() }

(. (size: 50))
('output.isDecrementEnabled)
(output.isDecrementEnabled ? 1 : 0.5)

(output.toggleText, isOn: input.isOn)
(width: 150, alignment: . )
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